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AB=OB-0A =24 - (a+2B)= 2a-B-0-2B=0-3p

fz=6Z_6f:5a_sﬁ-@a+@:sa_iLaa_B=za_6ﬁ

ABOLSB

Eivor TA=20—6B=TA= 2(a 3[3) — T[A=2AB=TA//AB
314 2)

Kﬁ=Eﬁ;4ix:7a+4§_(a+ﬁ)=7a+4ﬁ_a_é:6a+3§

FA’=M—ﬁ=3&—26—(&—36)=3&—2B—&+3B=2&+é

TA=20+B .

Eivor AB=606+3f= AB= 3(2a+[3) — AB=3TA= AB//TA
3.14 3)

E:@’-oﬁ=2&+B—(&+3B)=2&+B—&—3B=&—2B

FA'=@—ﬁ=2&+3B—(4&—6)=2&+3B—4&+B=—2&+4B

AB=0-2p

Eivot FA——2a+4B:>FA——2(a 2[3) — TA=-2AB=TA//AB

AB=AB-AA =20-f- (a+B) 26-B-d—P=0-2B

AB=a-2p ___

Eivor Al =20—4p= Al = 2(a 2[3) — Al'=2AB= A['//AB= AI'//AB
3.14 5)

AT =0T —OA =6+ 3B—a=3p
AB=0B-OA=p—(3i+)=f ~3i- f =3
AB=OB—-OA =B—a

AB=p-a

Eivot AT“+ATSz3[§—3&:>AT“+A§z3([§— ) — A[+AB=3AB= Al'+AB//AB




